DIMENSIONAL DRAWING: 4343L

il T oo oSS0l il | |
. . - e -~ ] .
& T ¥> %0 _ o° o o [T°¥ o o T ¥ o o  *e  ee o CH
999.3 TOUCHSCREEN VESA MOUNT
429 =l la M6 THREADS, X4
OPTIONAL SEALING FOAM 2.5MM THICK 66.4 —= - 400
(CUSTOMER INSTALLED, ALL AROUND)
R10, X4
A Z % \Ill_‘lj T ® ‘ Py 7 ‘w’ ﬁ,
Z i C > ° o — ) ETL:
[ (7 o Nl
| ! 77 AT = S S
943.2 ACTIVE AREA S Y m | A U
ZZ @) @) O
° —
583.5 ~
(SIDE MOUNTING) | g - |
d 1 1 ) O ql 400
531.3 ACTIVE AREA 587.5 8 275 G : > O O]
TOUCHSCREEN : 1 Al
;gﬂ? [ © © | I | —| © | T }
oo V(&)
o i il i o O
50 C — (=7,
= @ﬁ ey ey @ﬁ :
ﬂ& o Iy !
U )
X :j@o\ yHQ mwwex () _ _ ) mm;cx OHUO /@j:
L v X % \éﬁ_ﬂ&( ® | ® | ® 1 ® Pe — ;T
SIDE MOUNT
m LEFT AND RIGHT
0 Ao o - ol _C Aad j% M4 THREADS, X4
T e eme ot 2T
——= 50 591.8
—SIDE MOUNT
TOP AND BOTTOM HDMI IN (NOT ON ALL MODELS)
995.3 (SIDE MOUNTING) M4 THREADS, X4
DVI-D IN (NOT ON ALL MODELS)
REMOTE OSD
ACPOWER IN VEAIN TOUCH USB OUT
SEALING FOAM INSTALLATION (OPTIONAL FOR VESA OR SIDE MOUNTING): T f
1. PEEL BACK 2-3" OF RELEASE LINER FROM FOAM SEAL o o 6 o5 5 5 5 o o 5 5 o o = 5 o olo 5 5 o o — = o o o o o
2. ALIGN EXPOSED END OF FOAM SEAL WITH BLACK MYLAR ON TOUCH DISPLAY 0 {V 0o 0o o o o o A 0 //o/o © 0 0 0 0 0 o
3. GENTLY PEEL BACK ADDITIONAL RELEASE LINER AS TAPE IS PRESSED INTO PLACE. ° °L 0.0 ° ) © L o) O\ZE O ) E )] 6°6°6%6%6%6%6%6 %6
4. FOAM SEAL SHOULD NOT EXTEND OFF OFF THE EDGE OF BLACK MYLAR (@ @ .o ° o —_— 0 0 00 0 0 e e -
ALIGN SEAL WITH EDGE OF BLACK MYLAR \ T /Mﬂw/
(DO NOT OVERLAP SEAL ONTO TOUCH SCREEN GLASS) \%ﬂ LLBM L ‘ i
SEALING FOAM INSTALLED ~—
—BLACK MYLAR
SCALE 1.000

I
SCALE 1.000
SCALE 1.000

MS601917

DIMENSIONS ARE IN MILLIMETERS DATE: 05/09/2017

REV: A




DIMENSIONAL DRAWING: 4343L

FLUSH MOUNTING KIT
INCLUDED WITH 4343L, CUSTOMER ASSEMBLED

REPLACEMENT BRACKET AND SEALING FOAM KIT P/N E848336 AVAILABLE SEPARATELY

1034 .4
726.8
— = — 65
M4 THREADS, X2 — = ﬁ 100
45 X2
s %9 ? e o) Z CrRT)
7 N ® e PY; ®
%—L =) ) ’ Q)
- - 5 L o| (@] 2] 8|
. : i g 7 - (@&
a B ° of ’ :H
[ |~
410 6226 kR (@
b 0o ©0 B 00
INSTALLATION NOTES:
1. INSTALL SEALING FOAM AROUND EDGE OF TOUCH DISPLAY PER INSTRUCTIONS ON PAGE 1.
2. ATTACH BRACKET "A" TO TOUCHMONITOR, 8 PIECES
3. ATTACH BRACKET "C" TO CUSTOMER PANEL PER CUT-OUT DRAWING, 8 PIECES
4. ATTACH BRACKET "B" TO BRACKET "C" WITH INCLUDED M4 HEX HEAD SCREWS, 8 PIECES
5. ADJUST DEPTH OF BRACKET "B" SO TOUCHMONITOR WILL BE FLUSH WITH CUSTOMER PANEL
6. PLACE TOUCHMONITOR INTO OPENING FROM FRONT
7. SECURE TOUCHMONITOR TO BRACKET "B" FROM BEHIND WITH M4 HEX HEAD SCREWS (INCLUDED)
— 556.8 | B 85 A . CUSTOMER PANEL (NOT INCLUDED)
= = 65'B BRACKET "B MIN THICKNESS = 5MM
10 BRACKET "C" MAX THICKNESS = 25M
N, g SEE DETAIL B
, RECOMMENDED CUSTOMER PANEL CUT-OUT , BR
+ CHOOSE ONE: )
: "A" = M4 THREADED HOLES OR M4 CONCEALED : SEE DETAIL A
608.6 HEAD THREADED STUDS WITH NUTS
"B" = CLEARANCE HOLES FOR M4 MACHINE SCREWS
+0.5
589.5 5 240
. . I
+0.5
+ 10013’ +
+ + Zl
4L 85 ||A||
++ ++ ++ ++ o 10 65 "B"
DETAIL B
1020.4 DETAIL A SCALE 0.400
SCALE 0.400
glo
MS601917
DIMENSIONS ARE IN MILLIMETERS DATE: 05/09/2017
REV: A




	Sheet 1
	Views
	new_view_1
	right_2
	right_3
	bottom_4
	top_5
	bottom_13
	new_view_21
	right_22


	Sheet 2
	Views
	new_view_7
	new_view_8
	new_view_9
	new_view_12
	new_view_15
	A
	B
	new_view_20



